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Preguntas	
  complementarias:	
  
	
  
1,0	
  	
  Asignar	
  los	
  pares	
  conjugados	
  responsables	
  de	
  la	
  
	
  	
  	
  	
  	
  	
  	
  las	
  zonas	
  amorEguadas.	
  
	
  
2,0	
  	
  Con	
  el	
  diagrama	
  calcular	
  	
  q%	
  de	
  sendos	
  puntos	
  de	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  equivalencia.	
  
	
  
3,0	
  	
  Seleccionar	
  un	
  indicador	
  àcido	
  base	
  que	
  permita	
  
	
  	
  	
  	
  	
  	
  	
  	
  detectar	
  el	
  punto	
  de	
  equivalencia	
  para	
  la	
  determinación	
  
	
  	
  	
  	
  	
  	
  	
  	
  de	
  pureza	
  del	
  AgNO3.	
  
	
  
4,0	
  	
  Calcular	
  con	
  el	
  diagrama	
  el	
  error	
  por	
  el	
  indicador	
  seleccionado.	
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